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Read the following passage and answer the questions that follow.

5|

(CNN News, October 8, 2019. “Owning a dog tied to lowering your risk of dying
early by 24%, says science” By Sandee LaMotte)

@ Read the following passage and answer the questions that follow.

51 A
(The New York Times, March 25, 2020. “How to Get More Sleep Tonight” By Adam

Popescu)

E FRead the following passage and answer the questions that follow.

51 A
(NBC News, January 24, 2020. “Not enough evidence that e-cigarettes help to stop

smoking, surgeon general says” By Rosemary Guerguerian, M.D.)
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5 Change the verb form in the blank marked (13 ) to the appropriate one.

If there is no need to change the form, write the word as it is.

5 Change the V%m the appropriate one.
Ifthere is no n e form, w, 1t 1s.
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